0::		AF0!		- ,	Load Type	Fixture		Total Load
Circuit #	Feed	AFCI	Area / Room / Zone Name	Fixture		(W)	(Qty)	(W)
100.1		No	1st Floor / 100 Main Corridor / Sconces	INC Dimmed	INC Dimmed	100 W	4	400 W
100.2		No	1st Floor / 100 Main Corridor / Chandelier 1	INC Dimmed	INC Dimmed	600 W	1	600 W
100.3		No	1st Floor / 100 Main Corridor / Chandelier 2	INC Dimmed	INC Dimmed	300 W	1	300 W
100.4		No	1st Floor / 100 Main Corridor / Closet Light	INC Dimmed	INC Dimmed	100 W	1	100 W
100.5		No	1st Floor / 100 Main Corridor / Cove Light	MLV Dimmed	MLV Dimmed	6 W	19	114 W
100.6		No	1st Floor / 100 Main Corridor / Groin Vault Downlights	INC Dimmed	INC Dimmed	100 W	6	600 W
100.7		No	1st Floor / 100 Main Corridor / Niche 1	INC Dimmed	INC Dimmed	100 W	1	100 W
100.8		No	1st Floor / 100 Main Corridor / Niche 2	INC Dimmed	INC Dimmed	100 W	1	100 W
100.9		No	1st Floor / 100 Main Corridor / Cove Lighting	MLV Dimmed	MLV Dimmed	6 W	111	666 W
101.1		No	1st Floor / 101 Atrium / Spare Circuit 1	INC Dimmed	INC Dimmed	100 W	5	500 W
101.2		No	1st Floor / 101 Atrium / Spare Circuit 2	INC Dimmed	INC Dimmed	100 W	5	500 W
102.1		No	1st Floor / 102 Kitchen / Chandelier	INC Dimmed	INC Dimmed	400 W	1	400 W
102.2		No	1st Floor / 102 Kitchen / Cove Lighting	MLV Dimmed	MLV Dimmed	6 W	28	168 W
102.3		No	1st Floor / 102 Kitchen / UC Puck Lights	INC Dimmed	INC Dimmed	22 W	30	660 W
102.4		No	1st Floor / 102 Kitchen / Ceiling Lights	INC Dimmed	INC Dimmed	100 W	10	1000 W
102.5		No	1st Floor / 102 Kitchen / Accents	INC Dimmed	INC Dimmed	100 W	2	200 W
103.1		No	1st Floor / 103 Dining Room / Chandelier	INC Dimmed	INC Dimmed	550 W	1	550 W
103.2		No	1st Floor / 103 Dining Room / Downlights	INC Dimmed	INC Dimmed	100 W	10	1000 W
103.3		No	1st Floor / 103 Dining Room / Cove Lights	MLV Dimmed	MLV Dimmed	6 W	52	312 W

1/25/2011 8:54:06 AM

Oimand #	Feed	eed AFCI	Area / Room / Zone Name	- . ,	Load Type	Fixture		Total Load
Circuit #				Fixture		(W)	(Qty)	(W)
105.1		No	1st Floor / 105 Library / Chandelier	INC Dimmed	INC Dimmed	500 W	1	500 W
105.2		No	1st Floor / 105 Library / Cove Lighting	MLV Dimmed	MLV Dimmed	6 W	188	1128 W
105.3		No	1st Floor / 105 Library / UC Puck Lights	INC Dimmed	INC Dimmed	22 W	9	198 W
105.4		No	1st Floor / 105 Library / Bench Seat Light	INC Dimmed	INC Dimmed	100 W	2	200 W
105.5		No	1st Floor / 105 Library / Cabinet Puck Lights	INC Dimmed	INC Dimmed	22 W	40	880 W
105.6		No	1st Floor / 105 Library / Ceiling Lights - Inner	INC Dimmed	INC Dimmed	100 W	6	600 W
105.7		No	1st Floor / 105 Library / Ceiling Lights - Outter	INC Dimmed	INC Dimmed	100 W	7	700 W
106.1		No	1st Floor / 106 Family Room / Ceiling Lights 1	INC Dimmed	INC Dimmed	100 W	13	1300 W
106.2		No	1st Floor / 106 Family Room / Ceiling Lights 2	INC Dimmed	INC Dimmed	100 W	5	500 W
106.3		No	1st Floor / 106 Family Room / Ceiling Lights	INC Dimmed	INC Dimmed	100 W	3	300 W
106.4		No	1st Floor / 106 Family Room / Cove Lights	MLV Dimmed	MLV Dimmed	6 W	110	660 W
107a.1		No	1st Floor / 107A Balcony / Ceiling Lights	INC Dimmed	INC Dimmed	100 W	2	200 W
107.1		No	1st Floor / 107 Living Room / Ceiling Lights 1	INC Dimmed	INC Dimmed	100 W	11	1100 W
107.2		No	1st Floor / 107 Living Room / Ceiling Lights 2	INC Dimmed	INC Dimmed	100 W	5	500 W
107.3		No	1st Floor / 107 Living Room / Cove Lights	MLV Dimmed	MLV Dimmed	6 W	110	660 W
108A.1		No	1st Floor / 108A Balcony / Ceiling Lights	INC Dimmed	INC Dimmed	100 W	2	200 W
108.1		No	1st Floor / 108 Bedroom #3 / Downlights	INC Dimmed	INC Dimmed	100 W	12	1200 W
108.2		No	1st Floor / 108 Bedroom #3 / Cove Lighting	MLV Dimmed	MLV Dimmed	6 W	50	300 W
108.3		No	1st Floor / 108 Bedroom #3 / Ceiling Fan 1	Ceiling Fan	Fan-FSQ	0 W	1	0 W
109.1		No	1st Floor / 109 Bath #3 / Sconce	INC Dimmed	INC Dimmed	100 W	1	100 W

0::		AFCI	Area / Room / Zone Name		Load Type	Fixture		Total Load
Circuit #	Feed			Fixture		(W)	(Qty)	(W)
109.2		No	1st Floor / 109 Bath #3 / Downlight	INC Dimmed	INC Dimmed	100 W	1	100 W
110.1		No	1st Floor / 110 Closet / Downlights	INC Dimmed	INC Dimmed	100 W	2	200 W
111.1		No	1st Floor / 111 Laundry / Laundry Light	INC Dimmed	INC Dimmed	100 W	2	200 W
112.1		No	1st Floor / 111 Laundry / AV Closet Light	INC Dimmed	INC Dimmed	100 W	1	100 W
113A.1		No	1st Floor / 113A Balcony / Exterior Downlight	INC Dimmed	INC Dimmed	100 W	1	100 W
113.1		No	1st Floor / 113 Bedroom #4 / INC Dimmed 1	INC Dimmed	INC Dimmed	100 W	12	1200 W
113.2		No	1st Floor / 113 Bedroom #4 / MLV Dimmed 1	MLV Dimmed	MLV Dimmed	6 W	40	240 W
113.3		No	1st Floor / 113 Bedroom #4 / Ceiling Fan 1	Ceiling Fan	Fan-FSQ	0 W	1	0 W
113.4		No	1st Floor / 113A Balcony / Cabinet Puck Lights	INC Dimmed	INC Dimmed	22 W	2	44 W
114.1		No	1st Floor / 114 Bath #4 / Downlights	INC Dimmed	INC Dimmed	100 W	6	600 W
114.2		No	1st Floor / 114 Bath #4 / Cove Lights	MLV Dimmed	MLV Dimmed	6 W	21	126 W
114.3		No	1st Floor / 114 Bath #4 / Shower Downlights	INC Dimmed	INC Dimmed	100 W	2	200 W
200.1		No	2nd Floor / 200 Foyer / Chandelier	INC Dimmed	INC Dimmed	600 W	1	600 W
200.2		No	2nd Floor / 200 Foyer / Sconces	INC Dimmed	INC Dimmed	100 W	2	200 W
200.3		No	2nd Floor / 200 Foyer / Ceiling light	INC Dimmed	INC Dimmed	100 W	1	100 W
200.4		No	2nd Floor / 200 Foyer / Storage Light	INC Dimmed	INC Dimmed	100 W	1	100 W
200.5		No	2nd Floor / 200 Foyer / Table Downlight	INC Dimmed	INC Dimmed	100 W	1	100 W
201.1		No	2nd Floor / 201 Hall / Niche Light	INC Dimmed	INC Dimmed	100 W	1	100 W
202.1		No	2nd Floor / 202 Vestibule / Ceiling Light	INC Dimmed	INC Dimmed	100 W	4	400 W
202.2		No	2nd Floor / 202 Vestibule / Cove Lighting	MLV Dimmed	MLV Dimmed	6 W	20	120 W

3

0::4 "		eed AFCI	Area / Room / Zone Name	-	Load Type	Fixture		Total Load
Circuit #	Feed			Fixture		(W)	(Qty)	(W)
202.3		No	2nd Floor / 202 Vestibule / Closet Light	INC Dimmed	INC Dimmed	100 W	1	100 W
203.1		No	2nd Floor / 203 Closet Vestibule / Chandelier	INC Dimmed	INC Dimmed	400 W	1	400 W
203.2		No	2nd Floor / 203 Closet Vestibule / Cove Lighitng	MLV Dimmed	MLV Dimmed	6 W	35	210 W
203.3		No	2nd Floor / 203 Closet Vestibule / Downlights	INC Dimmed	INC Dimmed	100 W	8	800 W
203.4		No	2nd Floor / 203 Closet Vestibule / Niche Light	INC Dimmed	INC Dimmed	100 W	1	100 W
204.1		No	2nd Floor / 204 Master Closet / Downlights	INC Dimmed	INC Dimmed	100 W	9	900 W
204.2		No	2nd Floor / 204 Master Closet / Chandelier	INC Dimmed	INC Dimmed	500 W	1	500 W
204.3		No	2nd Floor / 204 Master Closet / Cove Lighting	MLV Dimmed	MLV Dimmed	6 W	38	228 W
204.4		No	2nd Floor / 204 Master Closet / INC Dimmed 1	INC Dimmed	INC Dimmed	100 W	3	300 W
205.1		No	2nd Floor / 205 Office / Ceiling Lights	INC Dimmed	INC Dimmed	100 W	2	200 W
205.2		No	2nd Floor / 205 Office / Cabinet Lights	INC Dimmed	INC Dimmed	100 W	7	700 W
205.3		No	2nd Floor / 205 Office / Cove Lights	MLV Dimmed	MLV Dimmed	6 W	41	246 W
205.4		No	2nd Floor / 205 Office / UC Lighting	INC Dimmed	INC Dimmed	100 W	1	100 W
206.1		No	2nd Floor / 206 Master Bath / Chandelier	INC Dimmed	INC Dimmed	450 W	1	450 W
206.2		No	2nd Floor / 206 Master Bath / Cove Lighting	MLV Dimmed	MLV Dimmed	6 W	23	138 W
206.3		No	2nd Floor / 206 Master Bath / Tub Light	INC Dimmed	INC Dimmed	100 W	1	100 W
206.4		No	2nd Floor / 206 Master Bath / Vanity Downlights	INC Dimmed	INC Dimmed	100 W	3	300 W
206.5		No	2nd Floor / 206 Master Bath / Vanity Sconces	INC Dimmed	INC Dimmed	100 W	3	300 W
206.6		No	2nd Floor / 206 Master Bath / Shower Lights	INC Dimmed	INC Dimmed	100 W	3	300 W
206.7		No	2nd Floor / 206 Master Bath / WC Downlight	INC Dimmed	INC Dimmed	100 W	1	100 W

0::4 #	Feed	d AFCI	Area / Room / Zone Name	Fixture	Load Type	Fixture		Total Load
Circuit #						(W)	(Qty)	(W)
206.8		No	2nd Floor / 206 Master Bath / Exhaust Fan 1	S Exhaust Fan	Exhaust Fan	250 W	1	250 W
207A.1		No	2nd Floor / 207A Balcony / Exterior Downlights	INC Dimmed	INC Dimmed	100 W	2	200 W
207.1		No	2nd Floor / 207 Master Bedroom / Ceiling Fan 1	Ceiling Fan	Fan-FSQ	0 W	1	0 W
207.2		No	2nd Floor / 207 Master Bedroom / Ceiling Lights	INC Dimmed	INC Dimmed	100 W	6	600 W
207.3		No	2nd Floor / 207 Master Bedroom / Perimeter Lights	INC Dimmed	INC Dimmed	100 W	10	1000 W
207.4		No	2nd Floor / 207 Master Bedroom / Cove Lights 1	MLV Dimmed	MLV Dimmed	6 W	264	1584 W

1/25/2011 8:54:07 AM